SERE224EBE

R A HEFLIE I IEEKIE R |men@samns L)
A4 A= mE AA (BE#ER)
48 68 8H 108 128 28
ERERH 2010/4/20 | 2010/6/9 | 2010/8/4 | 2010/10/13) 2010/12/2 | 2011/2/2
FREREFZI 11:10 10:50 10:50 11:10 11:00 11:30
XIE 55 g g B B B
SR (°C) 155 22.0 30.0 25 15.0 12
Kig (°C) 135 18.0 23.0 20.0 155 11
2KE (m) 0.2 0.2 0.6 0.20 0.2 0.5
pirb BE BE BE BE BE BE
=] &=a &=a &=a = = &=
=5 BR i) ER ER ER &R
4 |eH 7.9 75 75 7.4 75 7.0
= |po (mg/1) 11 95 8.9 9.3 10 11
& |BOD (mg/1) <05 0.8 <05 0.7 1.0 0.7
% [ss (mg/1) 1 1 1 1 3 1
B IXpEmn (MPN/100mD  9.3E+02 4.6E+02 2.4E+03 4.3E+02 1.5E+02 9.0E+00
H 2HEH (mg/1) < 0.005 < 0.005 0.005 < 0.005 < 0.005 < 0.005
HREY L (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
£ITY (mg/1) <01 <01 - <01 <01 -
£ (mg/1) < 0.005 < 0.005 - < 0.005 < 0.005 -
Nfiv B L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
it (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
FaskER (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
T ILEILIKER (mg/1) - - - - - -
PCB (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
# |Coooxrss (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
mig{bixE (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
1,2-Y'90014y (mg/1) < 0.0004 < 0.0004 - < 0.0004 < 0.0004 -
g |L1-¥/e0Ifby (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
YA-12-900IFLY  (mg/1) < 0.004 < 0.004 - < 0.004 < 0.004 -
1,1,1-p)y0014y (mg/1) <0.01 <0.01 - <0.01 <0.01 -
- 1,1,2-h)y0014Y (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
M)yEEIFLY (mg/1) < 0.003 <0003 - <0003 <0003 -
7h7900IFLY (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
1,3-9007°0A°Y (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
B |F734 (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
IVY (mg/1) < 0.0003 < 0.0003 - < 0.0003 < 0.0003 -
FANVANT (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
_oEy (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
v (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
B ERRUEMSEER (ng/l) 0.11 0.09 - 0.17 0.09 -
0% (mg/1) <0.1 <0.1 - <0.1 <0.1 -
1F5% (mg/1) <01 <01 - <01 <01 -
14-AF Y (mg/1) < 0.005 < 0.005 - < 0.005 < 0.005 —
-tV E (mg/1) - - - - - -
£EF (mg/1) 0.16 0.16 0.18 0.22 0.15 0.20
e (mg/1) 0.018 0.008 0.019 0.016 0.020 0.009
Fifl (mg/1) < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
DR (mg/1) - - - - - -
SRV (mg/1) - - - - - -
i=FN (mg/1) - - - - - -
Pd=1=E 1N (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
HRILLTILTER (mg/1) < 0.008 < 0.008 - < 0.008 < 0.008 -
5 EEE=D (mg/1) <0.02 <0.02 - <0.02 <0.02 -
)
it EPN (mg/1) - - - - - -
15 R A4y (mg/1) 15 5 - 23 5 -
8 |cop (mg/1) 14 0.8 1.0 0.8 0.9 <05
FUE=THER (mg/1) - - - - - -
HEMESR (mg/1) 0.11 0.09 - 0.17 0.09 -
BEREER (mg/1) <0.01 <0.01 - <0.01 < 0.01 -
BRIV (mg/1) 0.01 <0.01 0.01 0.01 0.01 <0.01
AE () - - - - - -
RUNOAS A REE  (mg/l) - - - - - -
2—MIB (mg/1) - - - - - -
DARIY (mg/1) - - - - - -
EXfmE® (4 S/cm) 47 55 59 52 64 84
fi@




SERE224EBE

R4 JIBEE SEig g EKIE R | @B amss TR
A4 AN mE A (BEZEQ)
48 68 8H 108 128 28
ERERH 2010/4/20 | 2010/6/9 | 2010/8/4 | 2010/10/13) 2010/12/2 | 2011/2/2
FREREFZI 11:25 11:05 11:10 11:20 11:15 11:40
XIE 55 g g B B B
im (°c) 15.5 22.0 30.5 25.5 15.0 12
Kig (°C) 14.0 19.0 24.0 205 16.5 12
2KE (m) 0.3 0.2 1.1 0.30 0.2 0.9
pirb BE BE BE BE BE BE
=] &=a &=a &=a = = &=
=5 BR i) ER ER ER &R
4 |et 7.3 7.2 7.2 7.2 7.3 7.0
= |po (mg/1) 10 9.9 8.8 9.1 10 11
& |soD (mg/1) 0.6 0.6 0.5 0.7 1.0 0.6
% [ss (mg/1) 2 <1 <1 <1 1 <1
B IXpEmn (MPN/100mD  9.3E+02 1.5E+02 2.4E+03 2.4E+03 4.3E+02 9.3E+01
H 2HEH (mg/1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
HREY L (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
£ITY (mg/1) <01 <01 - <01 <01 -
£ (mg/1) < 0.005 < 0.005 - < 0.005 < 0.005 -
Nfiv B L (mg/1) <0.02 <0.02 - <0.02 <0.02 -
it (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
FaskER (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
T ILEILIKER (mg/1) - - - - - -
PCB (mg/1) < 0.0005 < 0.0005 - < 0.0005 < 0.0005 -
# |Coooxrss (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
mig{bixE (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
1,2-Y'90014y (mg/1) < 0.0004 < 0.0004 - < 0.0004 < 0.0004 -
g |L1-¥/e0Ifby (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
YA-12-900IFLY  (mg/1) < 0.004 < 0.004 - < 0.004 < 0.004 -
1,1,1-p)y0014y (mg/1) <0.01 <0.01 - <0.01 <0.01 -
- 1,1,2-h)y0014Y (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
M)yEEIFLY (mg/1) < 0.003 <0003 - <0003 <0003 -
7h7900IFLY (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
1,3-9007°0A°Y (mg/1) < 0.0002 < 0.0002 - < 0.0002 < 0.0002 -
B |F734 (mg/1) < 0.0006 < 0.0006 - < 0.0006 < 0.0006 -
IVY (mg/1) < 0.0003 < 0.0003 - < 0.0003 < 0.0003 -
FANVANT (mg/1) < 0.002 < 0.002 - < 0.002 < 0.002 -
_oEy (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
v (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
B ERRUEMSEER (ng/l) 0.15 0.14 - 0.24 0.20 -
0% (mg/1) 0.1 0.2 - 0.1 0.3 -
1F5% (mg/1) <01 <01 - <01 <01 -
14-AF Y (mg/1) < 0.005 < 0.005 - < 0.005 < 0.005 —
-tV E (mg/1) - - - - - -
£EF (mg/1) 0.22 0.19 0.19 0.28 0.23 0.33
e (mg/1) 0.018 0.002 0.011 0.012 0.009 0.007
Fifl (mg/1) < 0.04 < 0.04 < 0.04 < 0.04 < 0.04 < 0.04
DR (mg/1) - - - - - -
SRV (mg/1) - - - - - -
i=FN (mg/1) - - - - - -
Pd=1=E 1N (mg/1) < 0.001 < 0.001 - < 0.001 < 0.001 -
HRILLTILTER (mg/1) < 0.008 < 0.008 - < 0.008 < 0.008 -
5 B2 (mg/1) <0.02 <0.02 - <0.02 <0.02 -
)
it EPN (mg/1) - - - - - -
B |EtemaA (mg/1) 6 7 - 6 12 -
8 |cop (mg/1) 1.1 0.7 0.8 0.7 <05 <05
FUE=THER (mg/1) - - - - - -
HEMESR (mg/1) 0.15 0.14 - 0.24 0.20 -
BEREER (mg/1) <0.01 <0.01 - <0.01 < 0.01 -
BRIV (mg/1) 0.01 <0.01 0.01 <0.01 0.01 <0.01
AE () - - - - - -
RUNOAS A REE  (mg/l) - - - - - -
2—MIB (mg/1) - - - - - -
DARIY (mg/1) - - - - - -
BER{niE® (1 S/cm) 100 140 90 76 110 130
fi&




